
Образование 
числительных



Let’s count!



11 eleven

12 twelve

How many insects?



13, 14, 15, 16, 17, 18, 19

+ teen = [ti:n]3 4

56 7 89



20

+tyTwo → 
twen



30
Three → Thirty



40, 50, 60, 70, 80, 90

+ty



Let’s count!

 ____apples9



Let’s count!

 ____cabbages14



Let’s count!

 ____carrots15



Let’s count!

 ____crocodiles18



Correct  Thomas!

elewen

ninteen

thriteentwenti

eightteen

tvelwe
sixten fivteen



Какой по порядку?

■ the first (1-ый)

■ the second (2-ой)

■ the third (3-ий)

■the fourth
■the fifth
■the sixth
■the seventh
■the …th



Which is Tom?

Tom John Nick Sam Ram Jack

Tom is the first. (the 1st)

John is the second. (the 2nd )

Nick is the third. (the 3rd)

4 + th =  the fourth

5 + th = the fifth

6 + th = the sixth



The letter “ A ”  is the first.

The letter “ C ”  is the third.

The letter “ B ”  is the second.

Which is  the letter “A”?



The letter “ ____ ”  is the ___th.


